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UNIT I: APTITUDE / Simarajle] (15 QUESTIONS)

Simplification - Percentage - Highest Common Factor (HCF) - Lowest
Common Multiple (LCM) - Ratio and Proportion - Simple interest - Compound
interest - Area - Volume - Time and Work.

FHEGSSVL 6Mwssr® - BLALWE QuTgis smrewll (HCF) - &g QuTgl LOL KIS
(LCM); efidlgd wppid eldgrésmyb; sl aurlg - Sa@ eullg - UFLy -

Qamemenenay - &TEVLD LOMHEID Couenev.
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SLI6D GTVIHOI  6TGHTENTIHInIgLI 6TenIh6T @uled etamaseit. or.om: (N) = {1,2,3,4, ...}

dPQQ 6TEBDIEBOIT : B)U16D 6TNTHEBHL 6T LLgReduild Caibal aubHaug ! (P TETEH6T.
aar (W)= {0,1,2,3,4,..}

APAPSBBOIT : IV GTENIH6HT, GHemB sleuTdbem Gogid Lgeduid Caribg sramaet GuUTaTBoUMB6T

CTELUCL (LpISB6IT
@ram: = (Z) ={..—3,-2,-1,0,1,2,3,4, ... }
SMHEDD GTEOTBOIT : 2 - LD UGLLTH 6Te0IH6T QDN 6TRIH6I. 61.5T : 1,3,5,7, ...

SILOL 6TO0IHOIT : 2 - 60 aUGUBID 6TaiTdHell L 6Nl 6160IH6I. 61.5T : 2,4,6,8, ...
LI&SIT 6T600T
QI 6lelr 1-&1L60 LOBWID I8 eTeudTamimed WL BLD eUGHLILLTEL Sl LIST 6lail iGHLD.

1 6TGTLGI LG 6TeTemIlD DIGV60 LIS 6T60TaILD SI6L6V.
usm sleselled aurdanigul @Gy AT ewL etevor 2 DL HGLD.

* o % %

2, 3 - @ FHeNJ 6T606VT LIBT 6IGWTHEHID 6 -631 DL hIend i 1 GHemmeursGaum BI6060%HI DIHHLTHEUT GU(BHLD.

(61.8M): 41 - Bz 6 - 61 WLHEMS 6 1 Gempme.
43 - Bz 6 - 61 WLHEMS L 1 DIFHsLD.

--------------------------------------------------------------------------------------------------------------------------------------------------------------

REOT) N6V IHITM)] QDT 25 LISIT 6T600TH6IT 2_GITCMT Slmel

2,35, 17 11, 13, 17, 19, 23 , 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97

.. 0
-------------------------------------------------------------------------------------------------------------------------------------------------------------

FIILIGIT 6IGUOT&H6IT : BT eTaurdberedn 15.0LMT.6u 1 slefled, DIGIOIGUGTITEDRGIT FTTLIGBT 6160016 6TGILILIHLD.
e.&r: (2, 3), (8,9), (7, 8

ST MLUST ersoir ¢ JCHID B[ LIST 61e0IbEhdh@& QLU L elGsHUTFID 2 eafled DieIGCeImIH6T BJL enL
LIBIT 6T6U0TE&H61T 6T60LILI(BLD.

er.&sm: (3, 5), (5, 7), (11, 13)

61F 616U 6TEIOTSBOIT : QI cTawTenN6l, DibLH cTENTNNISH HefiHH! BB BMTewIHelen gnBHeoTIH DIECSH 6T6uTN 6w
SH(HID 6TerNe0 IFH COF6ileill 6TemIH6T QLG LD.

6.BI 2 6 -651 HMJeuell 1, 2, 3 OIH6T FmBHO 1 + 2 + 3 =6

S SUIHBIOIET GTGOISHOI B\ 6160IH6IM60, i eTawTenleh Hyenidenen gnBHeOTandl LOBEBTT 6TERTENEIT SH(THLOTEIT6L
DIeN6) E6ITEBLOM6I 6T600TH6NT DI6V60SHI [BL L] 6T60018561T 6T6LILIBLD.

.80 ¢ 220 WwBmID 284.
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UG 6TG0r

LI 6T600T : LSBT eTardell oBmid , 1 - 83 S6fly BB SienaTsHs BUIed 6TaIISHEHD LiG 6TelTaei.
Wsd FPw LG etewr 4.
Wad AN BedBLI LenL LG 6eTewr 9.

* QranBaEGd GuoBuLlL STyenieemenn OETaTL 660l LG 61601 6T ILIBLD.

[ staiieefat aGuELd St ]

2, 5,10 ~ 9,60 QIGSLIBLD HEOTEMLO

QIGSLBLD HEOTEMLO

2 - 96 smLd Bevsald 0, 2, 4, 6, 8 95 B(HSHH6E0D
5 - 9L oL Bevssld 0 DleLeVH 5 DB B(HSHH6D
10 - 960 oL Bevssld 0 95 BNHSHH60

4 10HMIID 8 ~ 60 QIGLIBLD HEOTEMLD

QISLBLD HEOTENLO
4 - 9160 sMLSF BeiB Be0HEHMhIB6T 4 61 DL HBISTH E)(HEHH6L
8 - oL BmLd cLpeiml Be0HEHIGH6T 86T DL HIBTH Db B\(HHH60

3, 6, 9, 12 —~ 6L AIGLBLL HETEMLO

QIGLIBLD HEOTEDLO

3 - 860 BedahiHeNen gnbhHe0 3 WLHIGSTS B(HHDH60

9 - L6V BedahIH6N6T FnBHe0 9 61 LOLHRISTH E(HSHH60
6 - 960 2 LBBID 3 GLeL UGUBLD 6161 6 DLeL UGB
12 - &6 3 BOID 4 HL6L UGUBLD 6160 12 H6L euGLIBLD

11-9L,60 QIGLIBLD HEOTEMIO :

| s QI sTeuTenel QBeNB BevdHs slenteniel EevHEhHIGH6NT FnBHISESID, S DL E

L}

: o5 sleuntenilell DevdHIhIS6T6 FnBBHMNSGHD 2 6iTem elHHwngd 0 5T |
}

| :
1

SI6v6uHI 11-601 oL hSTHCUT BHHSTEL SIS 61601 11-G460 UGLIBLD.

*  QUTEIaITS 11-8160 aIGUBID HeTendeamwl GBI L algelled o 6T eTardeim 11-8160 IGUBID 6T6TLINS 6T MdHe0
SIBbSH QBHT6T6eTeVTLD.

o _FMyeuions: 121, 1331, 4994, 56265, 1234651, 4754574 61631 616001&H61T 11-Dh60 6uGLBLD.
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*  saflssddn Hiasenss VBODMAS / VBIDMASesim efdeni LweLGss GousimBib.

A\ - Vinculum / Bar

B - Bracket SlemLLIL
O/1 - Of & Order / Indices Ser

D - Division EUGES60
M - Multiplication OLIHEESH60
A - Addition FaL'L6D

S - Subtraction SLPS560

*  Aeucigiug (p5Hed6d SIMLLILSGHBIHEGHT RHUUSBE SHiay Hreor Gauenr(BLD.
*  “of ” erelipmed GLIHBH6L, Coguid Order(oIBGsH @) sleiml OUTHET Dlewd (WHe0eL Hidbsd CalaurBib.

DIBHT IBG UGHHH6D, CLHSHD, Fnl L 60, HHHHL 61603 auflenguied Syl uled Hemdh@HHenen Hidd GousrBLD

OIG5> el selr
e a™ X qh = gm+n
a™ _ ,m-n
& F =a
- (am)n — gmxn

(a)n aTl
& - == —
b bn
1
= — -m
V-1 om = a

Mathematics is not about numbers,
equations, computations and
Algorithms,

It is about UNDERSTANDING

TAF BOOK’s [ |4 27 FHHSD
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[ IDITS) 36T 3353 6IT ]

1. Debreormisefledr ol L6d:

5 3 5. &HBGHB. 20 +[8 %X 2+ {6 x3 —10 + 5}]
FHESS: T ¢ a)60  b) 15 c) 52 d) s3
ayl by2/5 ©)3/5 d)1/5 Siray
Siray 20+ [8X2+{6x3—10=+5}
2,3 243 T mmm———— -
5 5 5 5 =1 i BODMAS a8\&6mH@ (P (p&Hedlsd i
1 1
SOIIL: i CuomBsrl GFwwiLLLme SHissab. i
& UuGHaen @By wrHiluns B mbHTed eI
GO CBTGHHmen gl L Gour =20+4[8x2+{18—10+5}]
FIfbHCour Gouaior(HLD. =20+ [8x 2+ {18 —2}]
& 27 angd, 5 ugd =20+ [8%x2+16]
=20+ [16 + 16]
2. ebrenmisefiein sLhlsg60: - 20 +32-52
5 2 . —
F(HHGD: Pl 6. aHIGH: 1—-[1-{1-(1-1-1)}
ay7/3 b)3/7 )3 dy7 ?) 0 b) 1 c) 2 d) 3
i i
5_2_52 _3 oo
ST 7T T3 I GuebBamgl' L 2 BI'ILBemen Si(healL ;
| 961 BODMAS 6fidlsenen LGS S!S. i
3. Sehemiceen GLIHEHES6M: ey T ———— !
fFEH 2 X2 =1-[1-{1-(1-0)j]
FHBGHB: — X
o 2 =1-[1-{1-1}]
1 1
a) 3 b)E C) = d) = =1—[1-0]
it
2 3 6
IxZ-o—== 4+4x18-6-8
9 2 18 T =
_____________________________________________________ | 123X6—146X%5
i ebtenIOLBSSH06 1eiTamiseisn LGHow LGS aid (9 X 2) i a) 6 b) 2 C)6.65 d)7.75
1 . . . . _.
E OFTGHmuw COTGHULL@Ib OUmss Camdn. (2 X 3) i w
---------------------------------------------------- 4 _ 4+72-6-8
~ 738-730
4. eirenmbiseein 615360 76—14 62
. 1.3 = 3 = i 7.75
FOSGS : - T
7 7 1 7
3 b7 9% d3 8. 10,000 + 100 + 10 = ?
Sitol o ) o ) a) 10 b) 0.1 ¢) 1000 d) 100
Qb 6iTerdHems BEMBTH 1T6TETHHT60 61EHD w
WH6ev 6iTerHems BTl Teugl 19651601835 601 - o . )
HIELBLOWLITEO GOLIHES CoueiBid. 2®SH (+) CaTBbsiul LT AFHE
1,3 1 % 3 . P SIbhSHHl6iTen erenraeien HemeoSHOuil B COLhHS
s Ty =5 X7 @ o 10) Gouemn(BLD.
_1,7_7 = 10000 X — X —
"3 13 100 = 10
Vo AR =10
i W Geemd = @yem ez Geiemd !
1 1
i @enTLTeugl 19eTeTHSeT Henevadid z E
S S :
TAF BOOK’s [ |4 28 FBBSHB
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Qrszb
& gyngf = —————
TGRS M D
n+1
& (pHed N Buiev sterserier ggmafl = ( 5 )

& (PpsHeL N eBensLiuemL eeuigeler symafl = N

& e N GreLliumL dansefer ggrefl = (N + 1)

WpS60 eTemT + HenL & eTeHT

2

& 9bSHBHD eanisener gymam =

& 1-60mhSH N euen] 2 _6iTen menMLILIGNL sletTdbeafel FImam = 2

smLS @I enLLILIeL 6160 + 2

& 1 (pHev N 6ueny 2 6o Gl el LIledL sletsdeien gymafl =

2
[N 6T600T X(n+1)
N’ IDLBIG 2 ML Ul 6leTdherel Fyma = = 5
2xy 3xyz
f Geustb = —— km/hr 15561 b), ———— km/hr h1h 61 i
gyngi Geusld e, / (HITITRIBET FL0ID), pp—— / (&MJRIG6TT FLOLD)
GIoTSHS HTTLD .. . .
gyrgfl Gousld = —————— (HMJRIB6NT FIDID SHIGV6V)
Qurss Gy

1
s 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
1
1
1 amL8 QBEBrILHL 6TesT + 1 .
1
] 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
] 1
] 1
] 1
] 1
] 1
1 1
1
! 1

[ ereifill APenm ]

*  SIGH5055 / OSTLISFALITS/S e stanseflen Fyrafenw srem o1bgH GHTLM6L HBH6l0 2 siten sreammenier OHLIenLI
e ABlw etewr + W Guflw eTesor

St bHTe0 CUTHIOTETH. (HIeL6vdH) FrmFfl =

2 SITTC00TLONS :

6
63, 66,| 69 |, 72, 75 (&) = 69

i &5 19ewE6eT Syeniond FITFM GmmBAHHHSHTEL H(HHSLILIL L

NS HwTEDd

ygdw ggrgm = ggmafl + ————
eTenoTeni M

& 196DLH6NT HTTewIoTd FITFT FnlguiHbHSHT6V H([HSHSLILIL L
NS HwTed

ysw ggmaf = ggrgfl - ———
eTeuTEmTlE N

. .
......................................................................................................................

TAF BOOK’s [ |4 109 Fyma
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[ IDNST & 601655 85 61T ]

1. 33,26, 15, 13, 43 el6hiB etevisbeleht gymafl smeuns 5. 9Ib53bHH 6 BT L LILIDL sTeTdheren Fyma
a) 36 b) 26 c) 46 d) s6 247 eiadled OIFe0 WOBNIGUAW  6TewT  OHBIBID
Solution HaFAHL eraimenien gnBHe0 Wirg?

QUOT&HID a) 500 b) 498  c¢) 496 d) 494
Fymgm = ———————
s Solution
33+26+15+13+43 130
= 5 =Ty T 26. Frn&flenil BB JMNGHT SSDHS
"""""""""""""""""""" A dEOTEOTIT 3 6T600TEHGIBLD INEOTEOTIT 3 6T600TSH GIBLD

6TENTHEMENT dnl 19 SibFH CFHTensBUTen6

SIML0GHE G6600TBLD.

-

6T600TE0NEB MBUTNTEVRUGHHH HewL LG FITFT GG ID.

242, 244, 246,] 247 |, 248, 250, 252

2. 24 @pHev 30 euemyuleiten ereioigered  gymafl

BTG, B 50T fed WsFHAwl eTelr = 242
a) 29 b) 28 c) 27 d) 26 WBlarOufu eeor = 252
m @reni(h sTeiTSHere In(HdH6e0 = 494

24 (1p&H6eL 30 GUEDT D _6IT6N 6T6I0TEH6IT.

24,2526, 27 | 28.29. 30 6. A B C uppd D ayfu 0655655 4
®F6v GoTSHFID 7 eTaIHe 2 _6iement. SiFHed HH6N6L steniseflent ggmafl 56.5 guGL. eiefled A LOBBID

3. 11 955055 Buied eanisesr Fgmgfl 145 ereflev 2)-3363 b) 3306 ) 3135 c) 3080

SIFHlev WsFANWI steior wimgsl? m
a) 138 b) 140 c) 142 d) 145 — x+x+1+z+2+x+3 — 565
OIBSSBHH  slewimeren gyna DIHEBTLIT =>4x+6=565X4
aflenauied BHeleL o eiten erettGemt SigHedT — Fyma =>4x+6=226
OaTdHSHHLILL (HeiTenn  Hewibdlev Frmam 145 L&D 4X=226—6
ooy 145 - HOHTLE  euflenFuledt emLoul  6Teuor 4 x =220
GD. DHOHTLT auflenguied GOTSHSHD 11 eTevre6l 220
. . X=— ; x=55
2 6ieNHTaH  SnmLILIL BeiTengl. eteniGou 145 - 83 emLOWI6T 4
aemITE @SS B (PTENT  5 eTaRTEBEHLD, A=55 C=57
edTedtT 5 6T600THEHID EHHSH(HHH Garuewi(BLb. A, C &1 QubEGS 0Tems 55X57
140, 141, 142, 143, 144, 145, 146, 147, 148, 149, 150 =3135
@50FHTLM6L BFFIW 61e0r 140 SY(SHLD. OO, (oedn

L .. . ) MMM NI GTEUTENITES MeUSHHI (LPHILISESHLD
4. 955055 8 Buweb stewideient Frmafl 64.5 srefled

I 01 QUAL staim WiTe? 2 GTeNIHBEHID  16TUSHID 2 6Te0IHEHD SHMDHSH

a)68  b)65s ¢) 67 d) 68.5 GouamBLD.
55,56,| 56.5 | 57,58
gynaflenw bBelled  SIMWSH DSBS (Wedreu 4

6TGUOTEBEIHID L6HTaTT 4 GTEIBEHID SIS CHTL 6w SNbDBBHS 4 elewse = 55, 56, 57, 58.

(W OF g SIFlev WsLGLw erewr et Geueu(BLD. SauBens A,B,C,D sien GHLIILevTLD.
61, 62, 63, 64| 645 | 65, 66, 67, 68 A vppib C QUBESS OHTHS
Ax C=55x%x57=3135

DISOSHTLMeL &G 6Tetr 68 SuGLD.

TAF BOOK’s [ |4 110 Fyma
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© & FHeisD 61eILS 1005E 61HHMEN 61ILIMS SBISESLD. Qb I
HIDL SIH6T Gomdh g WHILL 6T QUII B DIend HIBDISE 616 OB I

I BBy FHMHD GLW. (61.8M) 5% 6THILIMS Fsomm 61(11p% Geueior(BLD. .
: I

X elgID @ eTewTenITedg YV % DIHHNSHBH (DI6LeVHI) GHmBEBSHI 616ull60 BHlewL &G LD
100t Y
100

ygHuwl etemr =

X gl Ve 6l A% SIHsD eiaried Y onergl X &3 6L X 100 % GHemmey.

100+a

X oeigl Y 89 L A% GHevmey slelled, YV SLeidl X 23 efl X 100 % S|FH>LD.

100—a

FodlizgHldr Mdrar augand :
ST I """""""""" ) """""'""""""'"1"\
\
[ 50% = -, 20% = =, 12.5% = =
1 2 5 8 1
[} 1
! Top = 1 2o, - 1 1, — 1 !
! 333/0 oy 163/0 oy 119/0 5 :
[} )
! o = 1 2op = 1 0 = L 4
! 25% 27 147/0 =’ 10% o !
\ /I
4 )
QT eTeTeIeg (PHedled A% FHBNEHSUI G 1961 A% GOBSBLILIBGHBS
6TaNl6d &ML GGLD LOGHILTEIH STQUILITS Db eTanrenenl 6l & @&mBeuTs
a’ a\?
B\(hSEGLD. BFHeneu (ﬁ) % SI6LVGI (R) % 61601 61(LDSHEVITLD
\_ J

& QI eslenteniTendl (P&Heded ad % SIHBNSSILGHBH DI6LEVSH! GMBEBLILIGHBSI.
ey Bewl_Hg wEHITeg Guwad b % HSNSSILGHBSH SIc06VS)

(a)(xb)
GOBHBILGHBH cTalled, HewLsGb wHy =+ a + b + T %
@hEe oiPsfssiu@nd Curg +, GopaslLGD CuTE — el LWETLGSS
Beueut(hLD)

TAF BOOK’s [~ |4 180 FHeiziD
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[ DAY & 601 88> & 61T ]

1. emumit 2000 - 60 25% 6T6ILIGI 6T6l6U6T6Y  (HLITL? 4. @ elaTenlled(HbEH SibFH eleitenledn 40% - £
a) ep. 400 b) . 450 BPes, BHwTergl 30 HomLsHBal sTelled Db
) . 500 d) . 550 6Teunr?

Solution 02 b0
559, cich 25 . o C) 52 d) 70
b 6TGNTLIGNG —— 616NN 6T(LPSHEVTLD
100
25 Solution
Too X 2000 = 500 20
x —x X—=30
100

2. 64060 20% + 200 60 21% = ? BODMAS efigitig e1BSa1d0iseiten GauemBid
a) 110 b) 130 c) 160 dy170 x—xX2=30
Solution x  2x

S—== 130
20 1 5
20% e163ILIeNSH —— 6160MI 61(LPFHEVTLD
¢ B Too D LD B.8..0 sTemt Gousi(Bd = 5
21
; 2 a6 T 5x  2x
21% e1e0TLIGNS 100 6T60TMI 6T(LPSHGVITLD —-5= 30
20 21
bl ) =9 5x—2x 3x
(640 x 100) + (200 X 100) : s - 5 30
128 + 42 = 170 ax = 150
. - o . [ 150
Si(HHGHBH — HOOTHGSSH6I60 60 x=— > x =50
eTeOTIed ' X ' 6T6dIm) GILITAB6IT 3
5. @  SMLESTT @O L uwphisemen

3. 2 of 10% of 60% of A eeug 32 eafed aubidlennfi. SiFed 40% LS - efippieli L
3 SlufiLib  185ID 420 LIphIGET 2 _6iTeNen 6lelled
A &1 I HTwISH. SieuT UM LIPHIGBEIT 61556060 !

a)750  b) 600 ¢) 800 c) 1250 a) 588 b) 600
c) 672 d) 700
AxZx2L 80 _ 3 SHOLSBTIT (1pH6e060 aUThIBUNBHS LIDHMD
3 100 100 100% et6iias
A = 32X100X100x3 — 800 @@f_ﬁ@ LI@FEI&;GiT = 100%, @S].FBIB IJ@I'EI&:GiT = 40%
2X10X60
BHID 2 6Tl LILDAIG6IT = QUM LILDMHIG6TT
of s16himTed (QLIHBE®EL) 6Ty CLIT(HGT - oA Liprie
10
10% eT60TLIEN S To0 eTImI 61(Lp&H Gouent(BLD = 100% - 40% = 60%
420
= —— X 100 = 700
60
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apsuEIBaiar 06560,
QLIS S DHLIGOT
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Sunsafsi

Sumseanils
aHBT enm

Q@—x+itox-1
y x ; x

N-QRMENMLIGNL. 60T
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n 2 3 4 5 -4
1 1 1 1 1
1 Z) = Z) = —) = —) = )= _
x+(2)=n )=z | Q)= | G =t | 2o ()5 |2 (F) -
2
Then, x? + (l) =n?-2 2 7 14 23 14
X
1 3
Then, x3 + (;) =n3—-3n 2 18 52 110 - 52
4
Then, x* + (1) —(n?—2)2—2 2 47 194 527 104
X
5
Then, x° + (%) =m?-2)xn®-3n)—n 2 124 726 2528 - 730
6
Then, x° + (%) =n3-3n)?-2 2 322 2702 12098 2702
7
Then, x” + (i) — (=3 X [P =27 —2] —n 2 844 10086 57968 - 10090
1
x—;=w/(n2—4) 0 V5 V12 V21 V12
n 2 3 4 5 -4
1 1 1 1 1
1 _[Z) = —_[Z) = —(Z) = —(Z) = _(Z) = =
T R CEE P R PSP TR
1 2
Then,x2+<; =n?+2 6 11 18 27 18
1 3
Then, x3 — (;) =n3+3n 14 36 76 140 -76
1 4
Then, x* + (;) —(2—2)2+2 34 119 322 727 322
5
Then, x5 — G) — P +2) % (1P +3n) -1 82 394 1366 3778 - 1370
6
Then, x6 + (l) = (n® +3n)2 — 2 194 1294 5774 19598 5774
X
7
Then, 27 — (%) — (P +3n) X [ +2)2—2]—n 474 4282 24470 101778 _ 04474
1
x+;=w/(n2+4) V8 V13 V20 V29 V20

a® —b3 = (a—b)(a®+ab + b?)

TAF BOOK’s [/

* (a+b)? =a?+ 2ab + b?
* (a—Db)? =a?%—2ab + b? * (a+b+c)?2=a%+b?+c? + 2(ab+ bc + ac)
* a’?—-b%?=(a+b)(a—b) (a®+b3+c3—3abc)=(a+b+c)
* (a+b)?>+ (a—b)?=2(a?+b? (a? 4+ b? + ¢? — ab — bc — ca)
* (a+b)?—(a—b)?=4ab * a3+ b3+ c®=3abe, if (a+b+c=0)
* a3 +b3 = (a+b)(a®—ab + b?)
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[ DN SIT & 015861 }

1 ) 1,
. kx+2y=5; 3x+y=1  aamw 2. X+ = 8aaied X+~ =1
B:LDGZ.)‘ILIIT(BES@&;@ Siay Beveors MHaneoudsd, K et (a) 62 (b) 66 (c) 64 d) 72
&iy? ot
a k=3 byk=5¢ M1 : "
c) k#e6 d k=4 x+;=a, 6TeuM6 x2+?= at -2
Sitay:— —64—2 =62
FSILUTBHeN6T OHTHUIABGHS SHT6| FHibleLensv
3 1
e, 3. X — 1 24/2 erenfien x* + — 61601601 ?
a; _ b1, a N N
—=—F—= (a) 12 (b) 10 (c) 16 (d 11
a by ¢
[Tttt Tttt ey —
FLOGTUTL 96T 6UIQ6ULD : ayx+by=c ;
e o o o e 1 1
@F&I@ a1=k,b1=2,a2=3,b2=1 x_EZZ\/E
1
E=z:,)k=2)(3=6 x2+—=a2+2
31 x2
stled K et FHY 6 SLSLD. — (Zﬁ)z +2
U ! Sga) o
: % == ::—1 sTedled BGrewImm Siey L (BLb : =8+2=10
2 2
b '
: OUBBHSSD (RUHBEISMIDEEL UIHI) : 4 a?-4a+1=0 eeofeo a® + % =?
22— St smemiyy Biopsen i @14  (b)16 (c) 18 (d) 12
I []
iﬂ@p—‘
: BHHSGD (Q(HRIGHEMLO6|EML UISI) E - =0
I a*—4a+1=
| 2= :—1 + < qafled Sy Beoanev. I
: a2 2 €2 : a L6V AGGHHAID.
I RHBRS®OAIBBSHI) I 1
I | a—-4+4+—=0
e o o o e e o | a
BN NN R EEEEEEEAAEEEEEEEsEEEEEEEEsEEEEEEEEEEE a + l = 4
sax? +bx+c=0 a+0 ea&p al
T BBLIQF FDGHTLITL 96, cLpevrbissee Fn[HFH60 a® + 2 a? -2
i - — A2 _ 9 _
: a+ B = -b =4c—-2=14
: a
:w 5 x—§=15&60‘ﬂ6bx2+%=?
; XAl Gl @114 (1) 160  (c) 229 (d) 412
CLPeVUMRIG6TTE OILI(HEBMBLIVEIT ir’rgw
. c LCMYSE S Ly 212
: af=- = —— -=) =15°
: P=a T Yusm o (x x) =15
3 4 2
: a,B -emel CLPEUHIEETTS 2 _6nL LI x?+ el 2 X x X o= 225
BmLYs FLe6TUT(H , 4
x2+(@+pB)x+af =0 x +ﬁ:229
e ErrEEEEEERE R EEEEEEEEEERRRR R EEEEE
TAF BOOK’s El% 364 SunHzanflHID
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6. x+l = 2 erenfled x91+%:? ®6sx Gumeiiy
* x ne oo, 1 1
@2 (b0 (©) 91 (d) 182 (x_;) =X e ixaxy
Sitey:— —x2+=—2 (1-601 &H1emU 19FHudL)
x2
=6-2
X +2=2 aefe 2"+ — = ,
x x 1 _ ) _l _ _
(Where n = 1) (x—;) =4 (x x)—\/Z—Z
x91+%—2 9. x=2+5aeheo x°+ x73
X
(a) 40 V5 (b) 34 5
7. x =2 — 3 eiailed V2 ereiig? () 465 (d) 365
1 1 1 1 iﬁgl=~
2 5(x+3) b3 (x=3) 1
x3+x‘3=x3+—3
X
%G— ) d) x -2 1__ 1 2-%5
ér'rm=~ X 2++v5 2-+5
x=\/_—\/_ 616016 2_\/§
© = (V24 V3) (or)(~VZ - V) 1 4-5
(x—2) = (V2-v3) - (V- 3) z=V5-2
1
(x- ) VZ-V3+VZ+3 x+—=2+/5+5-2
(x 3) \/——\/B =25
* va <Vb = —(Va +b) 1
x*+—==a*>-3a
1 Va>vVb=+va++Vb 3
o)z
= (2V5)3 =3 x 2V5
8. x+%=2\/§6[60‘ﬂ6i)x—% - &1 LGN = 40V5 - 6V5
BTG, = 34+/5
V2 b) 2V2
0) 2 d) 4 0. X+ =7 awhed x° +— =?
o X
L (a)322  (b)332 (c) 342 (d) 312
+2=2V2 (B0 Upwb aidaILGSS) bita:—
x 1
12 + - = ,
(x+5) =@v2y T
x 1
, 1 1 x> +—==0a*>-3a
X*+—+2xXxXx==4x2 3
X X
1 =7°-3x7
x*+—=+2=8
x =343 -21
1
x2+x_2:6_)(1) —322
TAF BOOK’s [/ 365 SuibHmaniziD




QUANTITATIVE
APTITUDE

TAF BOOK’s [F[7 376 Starafluieo



opbiss 16 gyanesater 15,985+ Gumpde Swatuaf, sibpsawnigd 60 smerser...

*  olenefiBse LGHUeL uFliLene], SBmene], Harslene] (CaTeTeneme]) OBMID cwensvell LD CUTED Di6N6e)Hemernd
sarBIlug umps sTeCGUTHGDTD. SienaibhHenen Be® euensHenTaLl 1IMdH60TLD.

Slenal: 1. FIOHEM 2 (HeUmhISH6T
2. BT ©_(HEUHISHGT

FIDHOT D_(HMIEISH6EIT:

*  FHIID, QF6IausD, aul LD BBID (WHBHTemD QAU © (HeUhiHeT FIDH6T 2 (healhideT G Db
2 (HeUhSEhdhE LTLILIEN6Y, FiBmerne| oB®ID cpeneveil L b CUT6IBeme SHetr gl BUIgDID. SLETeL SieuUmnsleit
O®meiTeNeN6)] HT60T EUIGOTH.

BOTD_IHAIRIBEITS

*  Arewi(h SleLevdl SIBBEG GBULL FIOHEM 2 (HeuhisEhemL Ul SenenrliCL H6T 2 (heuhidsT SLGWD. HETFHITLD,
SHAOF6UBID, FnlbL|, 2 (Hemer, GHmenld, OBBID EenL SHeaiL b CGUTEIB 2 (HeUhiS6TT ST _(HeUhiGHeT LG LD.
BauBBiBeg O®Teeneney (Hersiene]), LUFliLee OBBILD SBmene CUTEBEme HeTL MBI EUIVILD.

uyuuere] ¢

* @@ Gumhele @b FHMILGHUID DL HGID B SHH6T Siema| HIICUT[HaT6T LFLILIeTe] 66T ILIBLD.

SeneiGEMmen ubN ApdEuNDIEr GHUYH6IT:

||
|| QM (p&CaTamSHan cen CaTanihiseien amBgHe 180° Sy@Ib. ||
Il L enwiGHHer aufiGul GlFsveuId [Hrer el L 1D eTeLILI(BLD. |

QI LHHei1 emiowid Gasmemid 360 © y@lb. ||

Syl L&He emowis Gsreannd 180° ||

BT60 QI L SHFH6i1 emiowids Gebmewtd 90° @ Lb. ||

&5

&5

&

&5

& Syl LHHer 155 Senwub Csmerd CFmhi@sTemd SLELD. |
&

& BIBSJD 6160TLGHI @(LRMIBHBBSI.

& e BIHHe0 THTLSIHIBET BenemTHD, 61T CHTemimhidsT FLOTHA|LD ||

|| STeuTlILI(BLD. ||

uev Gamamsded o | Garahisaier ambse = (1 —2) X 180°
(N — UGBHHIBET6T 6163076006 )

3
sipev ST auflens = v (0 = spBd Gsmaniid)
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NG HET I5HBHTRIBET
1. &&ip1D
I’ _____________________ N D a C
I FgrsHHer ugliLenne = azef. S|6VEH6IT : I
| P
| GBI sBpeTe = 4 :
: PGV L Sl6NeY = a\/f 1 al 1a
N e e e e e e e e e mo____ o
|
A 'a B
2. aFeIEID D ) C
S \
| Orsiaussden uglinetey = [ X b g. spoese : b b
: OgaiussHar appeta) = 2 X (I + b) 1
1
: Qaeleussden apamevei b d = VI + b? A / B
N e e e e e e e e e oo y
3. w&Gasmaond A
,’_____________1 _____________ \
I 1p&Gasranisden LFLiLeTey = 7 % b X h 5. seoEs6T :
|
I weBasremgHar ampere; = AB + BC + CA : h
|
/
N @ o e e e e e e e e e e e e e e e e . n
B b C
4. aeniGsne apdGanaond A
A \
1 . .
: QFhBsment (1pHBHTMIHAH6 LITILeNTe| = 2 X b X h &. ge0@®6 : BITe0TLD
I QahBsment (poGamemtsHHe HBBeTe) = : S
ENEES: T
: (OIQUILE®HID + 2 _uIJlD + SHiT6wILD) 1 -
\ 1
N e e e e e e e, e e e e, —— ’ B sessusan C
5. spuss apdGamaond
/- - - - - - - - " -"-""-"""=""=""=""~="~=""~=""~"="="="="="=~"=~"=-"°= N
U V3 . 1
| Fouss (W&HCHTEISHH6H LTLiLi6e) = 5 @ 5 seesd |
: FILGHS (PHCHTEISHHO SHbBmerne) =AB + BC + CA = 3a :
3
: FI0UGS (&CHETaSHHH OFhiGHs5 o wrb h= \/7_0, SI6VGH6IT :
\ 1
\ ’
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6. ®mawuss apsGameaond

| Bmswuss walstansde uiliuete = hvVa? — h? &. siegse

: BmEwLsEs (aBsTansden sppetey = 2a + 2V a? — h?

- = —

A
/N
B b C
A
N\
Il SIFID LSS (IpHCHTemISHH6 LIJLILIeNe] = \/S(S — a) (S — b) (S — C) :
| a+b+c 1 C b
I S= I
2
: 9510 UGS WECstansdar apmeia = AB + BC + CA = (a+b+c) :
D ittt ’ B a C
8. smlEgIpID D
a a
2 N
|' d;, dy suPen cpanevsfil Lbisei srailled : d,
|
| FTLFSIISHHer UFliLene| = % X dy X d, 5. seo@s6H : C
1
I gTLsgspsHen sibpene) = 4a : d,
|\ J
ik U 2 a a
B
9. &N HID
C D
|{ BmaarsHa upliuete] = b X b & seogsst \|
: BmenarsHet sppete = 2X (a + b) : a h a
1
l\ _________________________ / Ll
A B
10. sfausID D b C
ST T T T T T T T T
I ugtiueney = o X h x (a + b) &. a6 : h b
|
I spmene) = AB + BC + CD + DA :
1
\\ _____________________ 1 a | B
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Pabsse| seug (Probability) gm Bspdd Baeipeusten eumiiiinier Semeaum@ib.
QM 2 _miFHwrer Habsgduier Hepesse = 1

@ 2 QIHUBB Bapsduls Hspsse = 0 (boLOUBTS Beoped)

66 @b HaFduls Habssan adivempuisy (Negative) augrgi.

* % % %

6L&m.: - 1,-2
n (S) sieug FEmmIGeueiude HeihHevlsiien o mIi|weMen 6T6wmenshemes

*

n (E) eeiiug) papdd sandhdevsien o miiseilen eremenibans
* P (E) eeiiugy paipgdl E - uleir Baibsseay

9l6vevgl 0 HHCauT Slsvevgl 1 HHCaUT DleHLOU|LD.

. astag, 0 < P(A) <1

| e o miFHwiner Bapdduler Mabssea @aim G, isTag P(S) =1

£ BLHES Buieor Hapsdules Hsbsse| LFSuD ouEb. oitag P(@) =0
© & A o6 HapFS Bl QBT SBHULSBHTEN HHDSHH6]

I P (A geoo) = P(A) oeoeom P(A) =2 =21

n n n

:>P(K):1—%=1—P(A)

| & P(A)+P(A)=1 [P(A) —eleTLgl HBpsdl A - uledt My Hasbdduwn@ib]

I5ITGOTUILD;

FamiQeuaiuder sTaemiisema n (S) = 2™
2 616G BTSN LISSHISET - T 6160ILIGI [HT6wIULISHE60T 6T600T6u0H6md
* Q@ BTEOMLSMS SHEBD CUTE Sl s@h auriisesis samaisms = 21 = 2.
S={H, T}
* B BrELBISmET SHaTBh GUTS L &@h aumiiiyseisr sanamismes = 22 = 4
S = {HH, HT,TH,TT}
*  epehm BTEMILIEISMET SHaBD GUTS Sl &@h aumiiiyseisr samaismas = 23 = 8

S = {HHH, HHT, HTH, THH, TTT, TTH, THT, HTT}

....................................................................................................................................

s
T

-’ £ BTERIWLSH6 LISShHIBMmeN Sliglomeanonsad (Base), oiger sientenisbmaemi
: OIBsaTHID (Power) s11ps Bauewi®BLd.

61.&IM.: 3 [BTENIWIHIGSEMET G(H(LPEND Si6ul(HH6D (23)

& A eehip gBHaID QH BHDFHSHTE HBDSHH0| 0 - G 1 - SGD AL uled SiEnoU|ID,

o
s’y

-----------
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LUSHL.:
FapI0eueiudeir stemTemidena n (S) = 6™
6 TOILIGHI LG UG LIEBHhIS6N, 1 616G LIGenL U6 6T6uT6midhemd
* @b usemL 2 (BLULIUGIDGCUTE Sl &G eumiiliL®Heler eTenrenldeme = 6l=6
S={1,2 3 4,5, 6}
*  Gh UBMLB6NT @ (HULIUGD CuTg Henl_b@D eumiliL®eMer cleTenibemsd = 62 = 36.
S= [ (1,1) (1,2) (1,3) (1,4) (1,5) (1,6) ]|
(2,1) (2,2) (2,3) 2,4) (2,5) (2,6)
(3,1) (3,2) (3,3) (3,4) (3,5) (3,6)
] 4,1)(4,2) (4,3) (4,4) (4,5 (4,6) [
5,1)(5,2) (5,3) (5,4) (5,5) (5,6)
L (6,1) (6,2) (6,3) (6,4) (6,5) (6,6)

* el LS &6 2 (B LUUBD Gungl Henl @b Sl S@GD eumiiLHameT eTenianlbmes = 63 = 216.

Fro5ar®:

*  QorHs FUBsem n (S) = 52

* (LY BHBFSL(BHeT = 26:

*  6oBu® (Spade) = 13, seneui (Clever) = 13

*x  Heuliy BmgF FL(Bsem = 26:

* ammic (Heart) = 13, enwewr (Diamond) = 13

* uLib (Picture) siteniaet = (A, J, Q, K) =4 x4 =16
* ereior (Numbers) ' enLg6it = (2, 3, ....10) = 9 x 4 = 36

& o | senmhiseT A Bpid B yduisieuBenns @@ Fwariiling Csngemeruisy A wBmpid B
616018 [HBLDFFBen6N eiTenBEWITAIBRI Hl60HET HHIDFSH6eNTE &(HFH6NT6L
P(AUB) = P(A) + P(B) — P(A N B)etaniss deml_s@Lb.
@n@& P(A N B)eeug Bawsdl A, B uded o _6iten QUTSHIGITET 6laibamen @@ L.
BowyBeal HabsHHeler gnl L 60 CHBMLOMEGLD.

& &

1

1

1

1

1

1

1

1

1

1

1

! A-ub B - uph geatempourdigid cles@d Hapsdser aale, P(ANB) = @ sy@ib.
: P(A UB) = P(A) + P(B)eienGeu, gGemenisd, P(ANB) = 0

| s A, B, C si6dilienr gamiGoued S & amibs gBHaID clpediml Halbd b6 erafled,

1
! P(AUBUC)= P(A)+ P(B)+P(C)—P(ANB)—P(BNC)—P(ANC)+P(ANnBNC)
1 By Hspddseten GeuL (56wl

|

1

1

1

1

P(ANB) =P(A) — P(ANB)
P(AnB) =P(B) — P(ANB)

Pabssaie gl e Campid P(AUB) = P(A) + P(B) - P(ANB)
Y Bm Bapidosense B Gu Hievegl albsHTed Bbs B Hohsdlsemsn HalDsse samen
Fal' L Geuei(BLb.
Y Bn Bapsdsensd Bl Gu BEID abdHTed Bbd B Hoddlaais HaDsse Hmern
OumBs Cousut(BHLD.
- J
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Hra,

@ ;‘:{ dfidabABY

@.__—{ L dleossip

yerafiufue S
@ “::n- ;::u
3 @\,{ IDTOIUTLEE ABdp

lill.mc-'n'ﬂ
KTBBITEV ABTLIT
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* 9L aIneTH6ll, e6MbSLILIL BIG6T, aUENTLIL HIG6T AU SneThSHIl LisTern elearhisenenud OFHTGHEH SieuBesr

2 U H(HHMSH. LGLILMiIe] QFilasB@&l Lol LsTel alal] Siemenealdsement] LILIGTLBHSHSHISEBTD.

Frramfuilar amaBaHeIr

*  eniowl Hemevll GuUITdh&Henenn SIEMLILGHBGLI LisveuensdswiTer FrmafaeT LweIGHSILGH BT SieuBnIe

(PSSHWIDTETEn6USH6T (LenmGu;

& &l Gssynef (Arithmetic mean)
Qumsssd syraf (Geometric mean)
@amss synaf (Hormonic mean)

@aLBmeo (Median)

X & & &

was® (Mode)

sar@ssrram (Arithmetic mean)

*  QarBESLILL(BeiTen eleuyhideaisd 6T6060T DALILBHMENMUD dnl'lg eHeUJThIGET6T 6160T60NHENGHUITE aIGHSHD Henl LG
FTSTI6W Snl (hF Fynam HL SLGLD.

augsme Fymram (Geometric mean)

* 'n' 2 mIiysemend OETeni GHTGHHUI OLIHHHe0 FInam OibsH Mm' o miriysefsr GBS OpTenasudei

Qupsss gyrad (G.M) = ll/Xl.Xz.Xg v X

Sazs syram (Harmonic mean)

* Bmad Fynagm eeiugh GeTGHSILLL efeugrhiseien Heneodbld AL SHelNen Frrafuie Hameodp HILTGLD.

SavLBaew (Median)

*  gpeuflens oi6Le0s BBhIE auflensuisd SMLESIULL Qb OFHTGHHUIST HHesd Slemwulll QUBEB S
BDLHlenev LG LD.
a6 (Mode)

* @ Halld OHTGHUN 6lbg WHIUTEEH HHaID DIHS (peds BL 1D GUBNEHSHBEHT DIHGa (PHB DLGSLD.
* @ Halld OFTGHUNL 6lbdH @b WAHILD Hpbu L 1b GLBelsoeney stalled Sibs LsTel elaurHABG®H (W56
B6Lem6V.

W36, BemLHemev, gl BFarTafl o fuaBnisd QLG o 6item GHTLITL.
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